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2x + 4y ≠ 6xy
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Challenge:  For the given expressions, write an equivalent expression.
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III.   Write an equivalent expression for the following expressions.





1.   � EMBED Equation.3  ���		2. � EMBED Equation.3  ��� 		3.  � EMBED Equation.3  ���





II. Explain why the following statement is true.  You may draw a picture. � EMBED Equation.3  ���





Model the following expression by drawing squares. 		Let             = x


a.   � EMBED Equation.3  ���


                                                                                                                              = y








                  b.  � EMBED Equation.3  ���





IV. Explain Yvonne’s mistake in the following problem.
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Combining Like Terms Practice
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4x + y + 5y + 2x
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8x + 6x + 2 =16x
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